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typedef struct cell{
char *str;
struct cell *prev;
struct cell *next;
}Cell;
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Number 1:

#include <stdio.h>
#define N 5
#define M 4

int SquareMatrix(int mat[N][M], int n, int m);
int FindSquare(int mat[N][M], int n, int m, int i, int j);

int SquareMatrix(int mat[N][M], int n, int m)

{
int 1,j,max=0,sqr=0;
for(i=0; i<n-1; i++)
{
for(j=0; j<m-1; j++)
{
sqr = FindSquare(mat,n,m,i,j);
if(sqr > max)
max = sqr;
b
}
return max;
}
int FindSquare(int mat[N][M], int n, int m, int i, int j)
{
int x,y;
int size = 0, max_size = ((n-1) > (m-j))? (n-1) : (m-j);
int val = mat[i][j];
for(x=1; x<max_size; x++)
{
for(y=0; y<=x; y++)
{
if((mat[i+x][j+y] != val) || mat[i+y][j+x] != val)
return size;
}
size = x+1;
}
return size;
}
/*
int main()
{

int mat[s][4] = {{271’131 }7{3717l76}7{3757575}7{4’575’5}7{6’575’5}};



printf("max square = %d\n", SquareMatrix(mat,5,4));
return O;
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Number2:
void MedOut(Cell* first, Cell* last) /*we assume the list has at least 3 items*/

{

if(first->next==last->prev || first->next->next==last->prev)

{
first->next = last;
last->prev = first;
return;
H
MedOut(first->next,last->prev);
return;
}
Number3:

#include <stdio.h>
void FindIndex(int a[], int n)

{
int 1, sum=0, curr_sum=0;
for(i=0; i<n; i++)
sum += a[i];
for(i=0; i<n; i++)
{
curr_sum += a[i];
if(curr_sum*2 == sum)
printf("%d ",1);
§
return;
h
/*
int main()
{
int a[5] = {1,3,3,5,2};
FindIndex(a,5);
return;
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